EatAE] HAE ORI0| 9

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

=0 =y
£l £2 AE|QIA OlHA ZRIX]
oYy

THEL:

AR T

LIAb &2|2 & &2 E: FHAZL.
AH|QIE|A AE! H{A:

&2 E Ak

LIAF £2|5 1.4305.

= E 1.4034.

&3 E, g3t 2R i

LIAF £2|5 1.4305.

= E1.4305.

BAE 02, G7ta, TlslA,

M OlR2:

AR T

LIAL &21E2 A &t %2

&= ' st odor & A Ast %2

AHQIEA AR DE!

LIAb 22|12 233 X2l

3 E Fs oot 2 23 Xl

3 E Fs oot 2 -3 X2l g
ro 1!

QlHlA ZRX £ 5H goi| o8t HZ 2|2l
BHAS Wxlsof st 2ol ALSE.

oix{ EEE £502 E 3 12 &3
X2 OIS E = UB.

QM AlZh E24 QT EZ EIO| CHA| §l=
Wg Yx|st7| /M= EtY C £= DE
O|83HoF .

YA

E4 M HE.

EMHAME:

Bl A &2 &R 38, A2 HE IS
EtlelB: H3 &R 95, ¥S HE US
Efel C: &3 &% A8, &2 LE 9
EtelD: &3 &% 98, &3 UE I8

www.kipp.com

- info@kipp.com

1/3



°
EZalAEI] A3 Ol=— AEISS A A (= | =
ZCIAE HAIE T80 = AE =2 AH|QlgA olHA Z81K
=N
0y ® © D
i )| [
1 s 111 S
- 3' al -t ﬂ I <8
e g . M .
1.1 w | 0 w f
w SWe/ w
| S/
pDa= (13
—h-——.J“— . -
o1 | Jol,
E52Y%
ol Z 2K
FEHS EtQJ EA A A= E D D1 D2 L L1L2L3 AEE3 SW1 Fx3a0° INES Bt
S ] =R
F12E N F29%. N
K0339.1105 A AE 23t 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.1206 A AE 28 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.1308 A AEl 23 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.1410 A AE 28 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.01105 A AE|QlEA AE] A8 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.01206 A AEQIYA AR Zst 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.01308 A AE|QlEA AE 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.01410 A AE|QlEA AE] Zs 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.11105 A AEQIE|A AE HIZE3 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.11206 A AE|QlEA AE HIZE3 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.11308 A AE|QlEA AE] HIZ8 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.11410 A AE|QlEA AE HIZ3 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.2105 B AE A 5  M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.2206 B AE 28 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.2308 B AEl 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.2410 B AE Zs 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.02105 B AE|QIHA AE Zdst 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.02206 B AEQIE|A AE g8 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.02308 B AE|QlEA AE] 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.02410 B AEQIFA AE 28 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.12105 B AEQIP|A AE HIZE3 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.12206 B AE|QlEA AE] HIZd8 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.12308 B AE|QlEA AE HIZ48t 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.12410 B AEQlE|A AE HIZE3 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.3105 c AE 28 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.3206 C AEl 28 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.3308 c AEl 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.3410 c AE Zs 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.03105 C AE|QIHA AE Zd3t 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.03206 c AEQlE|A AE 8 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.03308 C AEQIFA AE 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.03410 C AEQIFA AE 28 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.13105 o AH|QlEA AE HIZE& 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.13206 C AEQIFHA AE HIZE8 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



°
ECAE A O8l0] = A8 2 AH|2I2|A olHA E&IX]
EZS 29
FEHS ELQ] 2 A A2 E D D1 D2 L L1L2L3 AEE3 SW1 Fx30° INES] EtM
S EbN =
F12E N F29. N
K0339.13308 C AEQIFA AE] HZ3 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.13410 c AE|QIP A AE HIZ43 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.4105 D AE A 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.4206 D AEl 28 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.4308 D AEl Zs 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.4410 D AE 28 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.04105 D AE|QlEA AE] A8 5 M10x1 21 4717 7 15 5 13 1,3 5 12
K0339.04206 D AE|QIP A AL 23 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.04308 D AE|QlEA AE 28 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.04410 D AE|QlEA AE] Zs 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34
K0339.14105 D AHQIE|A AE HIZEs 5 M10x1 21 47 17 7 15 5 13 1,3 5 12
K0339.14206 D AE|QlEA AE HIZE3 6 M12x1,5 25 56 20 8 17 6 14 1,8 6 14
K0339.14308 D AE|QlEA AE] HIZH8 8 M16x1,5 33 74 26 10 23 8 19 2,3 15 35
K0339.14410 D AE|QIP A AL HIZ5 10 M20x1,5 33 80 28 12 25 10 22 2,8 15 34

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



